LOGARITHMS

.loga (xy)=logax+logay
.loga [x/y] =logax—logay
. log xx=1
.log a1=0

.log ax "=n (log aXx)
.logax=1/logxa
.log ax=logvx/log»a=log x / log a
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Problems with solutions
1. Iflog 2 =0.3010 and log 3 = 0.4771, the value of logs 512 is:

Solution

log 512
logs 512

log 5

_ log 2°
~ log (10/2)

_ 9log2
- log 10 - log 2

_ (9x0.3010)
~ 1-0.3010

2.709
0.699

2709
699

=3.876
2. 1f logio 5 + logio (5% + 1) = logio (X + 5) + 1, then x is equal to:

Solution

0910 5+ log1o (5x + 1) =logo (x +5) + 1

10910 5 + log1o (5% + 1) = log1o (X + 5) + logio 10
logio [5 (B + 1)] = logio [10(X + 5)]

5(5x + 1) = 10(x + 5)

5x+1=2x+10
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3. Iflogx| —| =- = , then x is equal to:
gx[ls] 2 q

Solution

lo [EJ =
9 16) ~

— 2 = L

N |-

81
4. If logxy =100 and logz x = 10, then the value of y is:
Solution

log2x=10 = x=21
logx y = 100

=y = x10

=y = (2191  [put value of x]
= y = 21000,

5. If logio 2 = 0.3010, then log. 10 is equal to:

Solution
1 1 10000 _ 1000

logip2 03010 3010 301"

log2 10 =



